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I. Multiple Choice (18%): Write the Capital letter ONLY that represents the best answer to the questions
below.

1. The founder of BT T £ built the startup because “fIEFFREEH ~ &) - KEZH/ NEBHESEBLEAT

i - ” Why are these products slow to e-commerce?
A. Agriculture is the traditional industry so it is slow to e-commerce
B. Farmers do not know how to use computers and sell produces online

C. The nature of products is not suitable for selling online
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0. The above figure is the netwerk configuration of a computer. What would happen if DNS server is broken?
A. cannot receive emails

B. cannot browse websites

C. Both A & B are correct

3. According Figure 1, which of the following is correct?
A.In a LAN, a switch only recognizeS*"MAL address
B. Default gateway specifies the port linking to a router
C. Both A & B are correct
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|Figure 2

4. The above figure is originated from AWS. Which of the following statement is correct?
A. AWS EC2 is classified as platform as a service

B. VPN refers to an internet connection from the external to a corporate network

C. Both A & B are incorreet

5. How do EC2 instances in the figure 2 address cyber-attacks?

A. EC2 instances are located within AWS’s network, which has.better security protection than ordinary firms.
B. EC2 instances are assigned with private IP address; isolated from the Internet.

C. Both A & B are incorrect

6. How do we interpret the diagram below? Choose'the best answer:
A. NPV of Project I is lower so we should decline Project I
B. Standard deviation of Project Y is higher so we should decline Project Y

C. Standard deviation of Project I is lower indicating the risk of project I is lower.

NPV of Project Y(yoghurt): 369,761
NPV of Project I (ice cream): 224,761
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ﬁII. Essay Questions (82%)

1. %8 11 becomes the key activity for online platforms and stores. For example, momo announces that 13 million
of people visit the site on 11/11/2018, and the number of orders is ten times of the daily average. If you were
fmomo’s IT manager,

(1) Please explain in details whether it would be an issue to the website. -6pts

(2) Momo adopts cloud computing to address the concern. Can you think of a situation where momo still
shutdowns the website even after adopting cloud computing? -7pts

2. In 2017, E.SUN bank (F(1187T) introduces a Chatbot application to supplement its online customer service.
The Chatbot application aims to answer customers’ questions'en the three most consulted areas: mortgage,
selection of credit cards, and currency exchange. Say you work inanother financial institution.

(1) How would you propose a concise business memo to convince your manager the investment on
Chatbot?-10%

(2) Chatbot has been gained traction in industries nowadays:~What is the most critical component of a Chatbot
application? -6%

(3) While E.SUN bank successfully adopted the Chatbot, can you provide a concise discussion on why another
financial institution may fail the adoption? 7%

3. #Z 57 is an e-commerce platform:

(1) Why are cross-side network effects critical to 5577 -8pts

(2) What action did 557 take to achieve eross-side network effects? -8pts

(3) It is possible to have an application based on block-chain to replace e-commerce platform like §E7 7. What is
the key feature of block chain to enable such a change? Is this new system better than the existing system like

HEg 77 -15pts

4. EU enforced the new regulation called GDPR this year.
(1) What is GDPR? Can you provide an example impacted/regulated by GDPR? -8pts
(2) Are firms in Taiwan impacted by GDPR? -7pts
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